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Since the 1980 eruption of Mount St. Helens
in Washington state, the elevation of its
summit is about 1,300 feet lower. How can you
calculate the difference in elevation in inches?

® 130012
1,300 + 12
© 1300%3

® 1300-12
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The height of the U.S. Capitol building
from the ground to the top of the Statue of
Freedom is 96 yards. The height of the Texas
State Capitol building is greater than the U.S.
Capitol. Which could be the height of the
Texas State Capitol?

@ 310feet
288 feet
© 3452inches
(© 3420inches
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1. 3mi=Myd 2. 72in.= Wt 3. Wit=8yd
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4. 132in.= W ft 5. 36ft="yd 6. 46yd =1 f
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Compare. Write <, >, or =.
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10. 2miOa,526yd 1. 4ydOISfl 12. 5miOZG,300ﬁ
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‘The length of a cruise ship is 1,092 feet. How
many yards long s the cruise ship?

® 3276 yards
91 yards

© 330yards
O 364yards
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Nadia runs 8 miles each weekend. How many
yards does Nadia run each weekend?

@ 14,080 yards
42,240 yards
© 14,960 yards
© 220yards




